

End of Key Stage 1 Outcomes

Y3 - All Pupils (28 pupils)

Y3 (28 pup	ils)			Tea	cher Asses	sment			3 (10.7%)* 6 (21.4%) 19 (67.9%) 3 (10.7%) 101 4 (44.4%) 5 (55.6%) 97. 3 (15.8%)* 2 (10.5%) 14 (73.7%) 3 (15.8%) 104 10 (100%) 103				
Reading	Pupils (%)	Other	Below	Pre Key Stage	Towards	At	Greater	At or Greater	Other	<100	100+	110+	Average
All Pupils	28 (100%)		1 (3.6%)	1 (3.6%)	4 (14.3%)	19 (67.9%)	3 (10.7%)	22 (78.6%)	3 (10.7%)*	6 (21.4%)		3 (10.7%)	101.8
Males	9 (32.1%)				3 (33.3%)	6 (66.7%)		6 (66.7%)		4 (44.4%)	5 (55.6%)		97.4
Females	19 (67.9%)		1 (5.3%)	1 (5.3%)	1 (5.3%)	13 (68.4%)	3 (15.8%)	16 (84.2%)	3 (15.8%)*	2 (10.5%)		3 (15.8%)	104.3
FSM	10 (35.7%)					10 (100%)		10 (100%)			10 (100%)		103.2
Not FSM	18 (64.3%)		1 (5.6%)	1 (5.6%)	4 (22.2%)	9 (50.0%)	3 (16.7%)	12 (66.7%)	3 (16.7%)*	6 (33.3%)	9 (50.0%)	3 (16.7%)	100.9
Pupil Premium	10 (35.7%)					10 (100%)		10 (100%)			10 (100%)		103.2
Not Pupil Premium	18 (64.3%)		1 (5.6%)	1 (5.6%)	4 (22.2%)	9 (50.0%)	3 (16.7%)	12 (66.7%)	3 (16.7%)*	6 (33.3%)	9 (50.0%)	3 (16.7%)	100.9
SEN Support	4 (14.3%)				3 (75.0%)	1 (25.0%)		1 (25.0%)	1 (25.0%)*	3 (75.0%)			91.7
Education, health and care plan	1 (3.6%)		1 (100%)						1 (100%)*				-
Not SEN	23 (82.1%)			1 (4.3%)	1 (4.3%)	18 (78.3%)	3 (13.0%)	21 (91.3%)	1 (4.3%)*	3 (13.0%)	19 (82.6%)	3 (13.0%)	103.2

Below - Includes any Engagement Model or P Scale assessments.

Other - Includes any assessment codes such as A (absent) and Has Not Met for Science.

* in Other indicates missing data or, for tests, that the scaled score conversion has not yet been released.

Y3 (28 pupils)										
Writing	Pupils (%)									
All Pupils	28 (100%)									
Males	9 (32.1%)									
Females	19 (67.9%)									

Teacher Assessment													
Other	Below	Pre Key Stage	Towards	At	Greater	At or Greater							
	1 (3.6%)	2 (7.1%)	7 (25.0%)	15 (53.6%)	3 (10.7%)	18 (64.3%)							
		1 (11.1%)	3 (33.3%)	5 (55.6%)		5 (55.6%)							
	1 (5.3%)	1 (5.3%)	4 (21.1%)	10 (52.6%)	3 (15.8%)	13 (68.4%)							

	Test	Scaled S	cores	
Other	<100	100+	110+	Average
28				
(100%)*				-
9 (100%)*				-
19				
(100%)*				-

FSM	10 (35.7%)			2 (20.0%)	8 (80.0%)		8 (80.0%)	10 (100%)*		-
Not FSM	18 (64.3%)	1 (5.6%)	2 (11.1%)	5 (27.8%)	7 (38.9%)	3 (16.7%)	10 (55.6%)	18 (100%)*		-
Pupil Premium	10 (35.7%)			2 (20.0%)	8 (80.0%)		8 (80.0%)	10 (100%)*		-
Not Pupil Premium	18 (64.3%)	1 (5.6%)	2 (11.1%)	5 (27.8%)	7 (38.9%)	3 (16.7%)	10 (55.6%)	18 (100%)*		-
SEN Support	4 (14.3%)		1 (25.0%)	3 (75.0%)				4 (100%)*		-
Education, health and care plan	1 (3.6%)	1 (100%)						1 (100%)*		-
Not SEN	23 (82.1%)		1 (4.3%)	4 (17.4%)	15 (65.2%)	3 (13.0%)	18 (78.3%)	23 (100%)*		-

Below - Includes any Engagement Model or P Scale assessments.

Other - Includes any assessment codes such as A (absent) and Has Not Met for Science.

^{*} in Other indicates missing data or, for tests, that the scaled score conversion has not yet been released.

Y3 (28 pupi	ils)			Tea	cher Asses	sment				Tes	t Scaled S	cores	
Mathematics	Pupils (%)	Other	Below	Pre Key Stage	Towards	At	Greater	At or Greater	Other	<100	100+	110+	Average
All Pupils	28 (100%)		1 (3.6%)		6 (21.4%)	18 (64.3%)	3 (10.7%)	21 (75.0%)	1 (3.6%)	10 (35.7%)	17 (60.7%)	3 (10.7%)	100.9
Males	9 (32.1%)				1 (11.1%)	8 (88.9%)		8 (88.9%)		3 (33.3%)	6 (66.7%)		100.9
Females	19 (67.9%)		1 (5.3%)		5 (26.3%)	10 (52.6%)	3 (15.8%)	13 (68.4%)	1 (5.3%)	7 (36.8%)	11 (57.9%)	3 (15.8%)	100.9
FSM	10 (35.7%)				1 (10.0%)	9 (90.0%)		9 (90.0%)		4 (40.0%)	6 (60.0%)		101.9
Not FSM	18 (64.3%)		1 (5.6%)		5 (27.8%)	9 (50.0%)	3 (16.7%)	12 (66.7%)	1 (5.6%)	6 (33.3%)	11 (61.1%)	3 (16.7%)	100.3
Pupil Premium	10 (35.7%)				1 (10.0%)	9 (90.0%)		9 (90.0%)		4 (40.0%)	6 (60.0%)		101.9
Not Pupil Premium	18 (64.3%)		1 (5.6%)		5 (27.8%)	9 (50.0%)	3 (16.7%)	12 (66.7%)	1 (5.6%)	6 (33.3%)	11 (61.1%)	3 (16.7%)	100.3
SEN Support	4 (14.3%)				3 (75.0%)	1 (25.0%)		1 (25.0%)		3 (75.0%)	1 (25.0%)		91.0
Education, health and care plan	1 (3.6%)		1 (100%)						1 (100%)				-
Not SEN	23 (82.1%)				3 (13.0%)	17 (73.9%)	3 (13.0%)	20 (87.0%)		7 (30.4%)	16 (69.6%)	3 (13.0%)	102.6

Below - Includes any Engagement Model or P Scale assessments.

Other - Includes any assessment codes such as A (absent) and Has Not Met for Science.

* in Other indicates missing data or, for tests, that the scaled score conversion has not yet been released.

Y3 (28 pup	oils)		Teacher Assessment								Test Scaled Scores				
Science	Pupils (%)	Other	Below	Pre Key Stage	Towards	At	Greater	At or Greater	Other	<100	100+	110+	Average		
All Pupils	28 (100%)	28 (100%)*											-		
Males	9 (32.1%)	9 (100%)*											-		
Females	19 (67.9%)	19 (100%)*											-		
FSM	10 (35.7%)	10 (100%)*											-		
Not FSM	18 (64.3%)	18 (100%)*											-		
Pupil Premium	10 (35.7%)	10 (100%)*											-		
Not Pupil Premium	18 (64.3%)	18 (100%)*											-		
SEN Support	4 (14.3%)	4 (100%)*											-		
Education, health	1 (2 60/)	1 (100%)*													
and care plan	1 (3.6%)	1 (100%)"											-		
Not SEN	23 (82.1%)	23 (100%)*											-		

Below - Includes any Engagement Model or P Scale assessments.

Other - Includes any assessment codes such as A (absent) and Has Not Met for Science.

* in Other indicates missing data or, for tests, that the scaled score conversion has not yet been released.

Y3 (28 pup	ils)		Teacher Assessment							Tes	t Scaled S	cores	
Rdg, Wri & Mth	Pupils (%)	Other	Below	Pre Key Stage	Towards	At	Greater	At or Greater	Other	<100	100+	110+	Average
All Pupils	28 (100%)	11 (39.3%)					3 (10.7%)	17 (60.7%)					-
Males	9 (32.1%)	4 (44.4%)						5 (55.6%)					-
Females	19 (67.9%)	7 (36.8%)					3 (15.8%)	12 (63.2%)					-
FSM	10 (35.7%)	2 (20.0%)						8 (80.0%)					-
Not FSM	18 (64.3%)	9 (50.0%)					3 (16.7%)	9 (50.0%)					-
Pupil Premium	10 (35.7%)	2 (20.0%)						8 (80.0%)					-
Not Pupil Premium	18 (64.3%)	9 (50.0%)					3 (16.7%)	9 (50.0%)					-
SEN Support	4 (14.3%)	4 (100%)											-
Education, health and care plan	1 (3.6%)	1 (100%)											-
Not SEN	23 (82.1%)	6 (26.1%)					3 (13.0%)	17 (73.9%)					-

Other - Includes pupils who have not achieved At or Greater in all 3 subjects.

* in Other indicates missing data.